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INSTRUCTIONS TO CANDIDATE o
1. The Question-booklet contains 100 objective type questions. The candidates HCL.I_)I
2l

attempt all the questions. There is no negative marking.
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2. No Second Question-booklet OR Answer Sheet will be given to the candidate under
any circumstances whatsoever.
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3. The candidate within 10 minutes of the issue of Question-booklet, will check up and
ensure that it contains all the pages and no page is missing. [n case of missing page(s},

the candidate should report to the Invigilator and get it changed other for a complete
Question-booklet.
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10.

11.

12.

The candidate will write Roll Number only on the Cover Page and on the Answer Sheet of
the Questhion-booklel at the places provided for the purpose and nowhere else, otherwise
the candidate will be disqualified in the Entrance Test.

ﬁﬁ%‘fﬁ IR & MET-TE 7T AT Fe-0N % M e oar @ s g
s, ema= adl ) s oftemelt may wier A dfte T R @dET

Do not write your Roll No. OR Name inside the Question-booklet.
HETF GBI STET G Ay el agETE T

Tht:n: shall e nao erasing or overwriting in the answers given on the Answer Sheet,
m which case such answers shall be deemed as incorrect.

T-I9 9T B o Imtergs gl @ BeR W Il TR w uE Al S A
T M fefy & xfdfeo o=l & onga wF femn e

Use of log tables or caloulators s not permitted.
L el o e & g o el 98 B

No candidate wil be permitted to enter the Examination Hall after the expiry
of 30 minutes from the commencement of the Entrance Test.
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No candidate will be permitted to leave the Examination Hall until the expiry of
two hours from the commencement aof the Entrance Test.
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Candidate will not bring anv lcose paper, whether written or blank, inside the
Examination Hall excepl the Admit Card,
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Candidates using any kind of unfair means OR attempting tc cause disturbances in the
Fxamination Hall shall be liable o be expelled from the Examination and his/her
performance in the Test will be cancelled.
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Candidates are required to deposit the only OMR Answer Sheet at the close of the
Examination,
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SCHOOL ENTRANCE TEST, 2017

CLASS : IX
hEll @ IX
Time : Two Hours } [ Maximum Marks : 100
a5y - & o) | { qoris : 100

IMPORTANT

| Read carefully the Instruction for Answering' given on the
| Answer Sheet and answer the questions as directed :

Wwwﬁqwfﬁ?@ﬁ%ﬁ?ﬂ#%maﬂ%ﬂmﬁ

V. WY I8 97 wHeE fhg 98 9 AmTe 9w Y e @ am &

JETETT 7 7
(1) 63 arg (2} T arm
(3) HFR A (4) wFanis

2. Frefad F & fvar o ommd oo 27

(1) ‘;'F‘Ff {2} LEE (3] T {4} e o

(3) P.T.0
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3. ‘R @ e e @
(1) T (2) &= (3) |HHRIA  (4) HETEEE

(1) 3rH (2) M (3) gy 4y Felg

5. ‘ETE 9T WY AT - JEal H oaref ¥

(1) = T== %o (2} W A e 2T
(3) =t A T e (4) g &

6. ‘IF oW A Fordt § T - OF SuEIe 2o

(1) TEEY @ (2) BRIt
(3} HHTE & (4) =

7. fr=fafaa § @ Fo-61 UH 9EE B3 B THWL 2 0
(1) = (2) @I
(3} TEET (4) =T | g TEl
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11.

12.

13.

14.
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“IEEA O e, B oqe |9 gA |
Ol A A FHEE, T, S, g9 0
S dfeagt # SA-91 sigimiT & °

(1) 3 (2) T (3) s (4) amIfT

‘HI-FHA T HT-G1 JAFHL B 7

(1) =9s% (2) IuAT (3) Jere (4) SAHTE

Fill in the blank with appropriate article :

This is .ouimaanna unusual problem that the government should
fight out.
(1) the (2) a (3) an (4) so

What is the plural of the word KNIFE ?

(1] Knive (2) Knives (3) Knaves (4) Knifes

Fill in the blank with appropriate preposition.
[ have been studying in the school .................. the last five years.

{1) since (2) about (3) for (4} around

Which of the following is a declarative sentence ?

(1) You are clever. - (2) Are you busy ?
(3) Be careful (4) How clever he ig !

(5) P.T.O.
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18. Which of the following sentence is in present perfect continuous
tensec ?

(1) Iam just planning my strategy to play well.
(2] We were facing challenges.
(3] They shall be performing tomorrow by this time.

(4} We have been rehearsing the play since January, 2017.

16. Fill in the blank with appropriate verb.

Sixteen miles .................. a long walk.

(1) are (2) is (3) were (4) would

17. What is the synonym of the word-PROSCRIPTION ?
(I} Restriction (2) Suggestion

(3) Allowance (4) Premonition

18. Fill in blank with suitable phrasal verb.

The computer always .........ccoeeee ;
{1} Breaks down (2) Breaks up
13} Breaksin (4] Breaks off

19. Which of the following is an interrogative pronoun ?

(1) Who {2) Some (3} Each (4} Her
(6)
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22,

23.

24.
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Fill in the blank to complete the 1diom.
AS YOU SOW, 80 ...corvvrirarnnes o
(1) You may reap (2) You may earn

(3) You shall earn {4) You shall reap

Which of the fellowing word is correctly speit ?
(1) Saccharin (2) Sakarin

(3) Sacharin (4) Saakrin

What is the adjective of the word - EXCEPTION ?

(1) Except (2) Excepsional

(3) Exceptional (4) Exceptionally

Identify the figure of speech used in the sentence : "He was as
brave as a lion."

(1) Metaphor (2) Hyperbole

(3] Personification (4) Simile

What is the verb of the word — HEAP ?

(1} Heave (2) Heap (3) Heapy (4) Heape

(7) i 2
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25.

26,

27.

28.

Choose the correctly spelt word .
(1} acummulate (2) exaggerate

(3] arbetrary (4) sieze

The word 'landmark' means the same as :
(1) High place (2] Marker

(3) Hill top {4} Land lord

[Jon't touch this.
The passive voice of the above sentence is :

(1) You sheould not touch this.

(21 This doesn't be touched.
(3] This must not be touched.

(4] You don't touch this.

‘The man was absorbed ............. his work.'

Use the most suitable preposition from the following
(1) at (2) with
(3) in (4] into
(8)
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29. He is like a snake in the grass for our family. The underlined

31.

32.

portion means :

(1) a close friend (2) a distant relative
(3) a stupd person (4) a hidden enemy
Mark the wrongly spelt word :

(1) Luggage (2) Baggage (3) Enggage (4] Savage

Who was the founder of Mughal dynasty ?

(1) Akbar (2} Humayun

(3) Babur (4) Chandragupta
YT AR A HIE H o7 7

(1) oFRsY () g

(3) s (4) =

Who was the first Woman Chief Minister of India ?

(1) Mayawati (2) Mamata Banerjee
@) Jayalalitha (4) Sucheta Kriplani
AT @ waH Afgen gegsE $m oo ?

(1) =rErEd (2) THar TS

() T (4) g B

(9) P.T O.
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33.

34,

35.

36.

The date when United Nations Organization was established ;
{1] 20th December (?) 24th October

(3} 2nd January (4) 10th August

GFT T /Y F owerraer #1 fakr o

1) 20 eyt (2) 24 ST4TET

(3) 2 5ad (4) 10 3T

Dadasaheb Phalke award is given in the field of :

(1} Sports 12} Education (3) Literature (4] Cinema
TETHIEE W Qe e A8 H Ry e ¥ 7

(1) - (2y farem (3) @iy (4) e
Which country has the biggest area ?

(1) Russia  (2) China (3) India (4] Brazil
TEY 2T e fRe AT FT € 7

(1) == (2) I (3) v (4) @S
Which day is celebrated as the World Environment day ?

(1) 10th October (2) 1st March

(3) 5th June (4} 5Sth September

fager wataeer Raq & 7o ST E 7

(1) 10 =R (2) 174

(@) 5 (@) 5 R

(10}
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40.
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Where is the memorial of Mahatma Gandhi ?

(1) Veer Bhumi (2) Rajghat
(3) Shakti Sthal (4) Shantivan
el gl St & iy wef R 7

(1) 9% 9% (2) sETE

(3) ofery v (4) srfeEs

Which game is Japan's National Game ?

(1} Shooting (2} Judo (3) Football (4} Basketball
T AT @F HH-6 B 7

(1) i<arsh (2) w& (3) HEEr (4) FEFzEE

When was East India Company established ?
(1] 1664 (2] 1600 (3} 1560 (4} 1700
% §fear Fu A T e g 7

(1] 1664 (2) 1600 (3) 1560 @ 1700

Who is called the Magician of Hockey ?
(1) Dhyan Chand (2} Milkha Singh
(3) Bishan Singh (4) Kapil Dev

EEty PTO
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elebt 1 SR FReRt &l Aem 2 7
(1) === (2) Fremar e
(3) fasmr foe | (4) witer 29

41, Bhakra dam is on which river ?
(1) Jhelum (2) Sutlej (3) Ravi (4} Chenab
iIEge! aiy gy adt ae s B 7

(1) &= (2) A (3) TEl (4) P

42. Where is Jim Corbett Wild Life Sanctuary located ?
(1} Odisha (2) Goa
(3) Meghalaya (4) Uttarakhand
o @& a4 ST T9aReyg FEl & 7
(1) SSisn (2) T

(3} Hag (4) IEES

43. Which Indian State has highest female sex ratio ?
(1} Uttar Pradesh (2) Kerala

(3) Mizoram (4) Punjab

- (12)
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aqifgesr afes ffmque 9Ra & Ry ueg § B 7

(1} IO 929 (2) I
(3) PretH (4) dme

SET/17/19/1X/[i)

Which is the brightest planet in our solar system ?

(1) Venus {2) Mercury (3) Jupiter

(4)

BqTY dIX AvEd & Saiias g 98 S9-u7 & 7

(1) g% (2 34 @ s

What is the currency of Bangladesh ?
(1} Doliar (2) Dinar (3) Taka
QST A HET BT T A L ?

(1) e 2) &% (3) @

What is the tenure of Indian President ?
(1} 3 years (2) 3 years {(3) 4 years
mzﬁﬁwtﬁwmﬁfﬁﬁwaﬁm% ?

(1) S &=t (2) 3 = (3) 4 T

Which city is called the pink city of India ?

(1) Jodhpur (2} Bikaner (3) Jaipur
(13)

4

(4

(4

(4)

(4]

Neptune

Rubal

© years

& :

Bhilwada,
PTG



SET/17/19/1IX/(i)

48.

44,

50.

PR 987 1 w3 7 @ 98T wer e B 7

(1} =iergz (2) eEHT (3) TAYR (4) e

Who is a Sarpanch ?

(1) Head of the Farnily {2) Head Master

13} Post Master (4) Head of the Village Panchayat
a3 B 2 ¢

(V) ufvam 1 e (2) HEFTEETISH

(3) =RET = yfEen (4) T dETER A g

Who raised the slogan, "Freedom is my birth right and [ shall have
i

(1) Lala Lajpat Rai (2) Bal Gangadhar Tilak
(3) Vipin Chandra Pal (4] Subhash Chandra Bose

CrTEErA edla AEEE oAlgeT B ool B =3 dwl W @ Al
R B v

(1) < eeTdd a9 (2) & TMYT 9
(3} T&fus == ure (4) GHAW == &9

Where the central office of the Reserve Bank of India is located ?
(1} Kolkata (2) Chennai (3) Mumbai (4} Delhi
(1) Hem (2 TR (3) H= 4) et

(14)
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52.

53.

54,

35.
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T

What should be subtracted from —% to get % ?

%W@Rﬁ%ﬁ;\t{ —%%ﬁﬁmmﬂﬁ%ﬁ 7
11 13 5 17
i _ - 4 =

i (2°' +10): 7 =6, then x =
X (237 410)+7=6, T x=

(1) -2 2] 2 (3) 1 “4 0

Which of the following number is not a perfect square ?
Frafaiea & @7- e gof ot 9272 2

(1) 961 (2] 1444 (3) 2222 . (4) 3136

Ifa-b=7and ab=9, then g+ b7 =
9% a-b=7 307 ab=9,d9 a+p? =

(1) 67 (2) 31 (3) 40 (4) 58

The present age of Sahil's mother is three times the present age of

Sahil. After 5 years their ages will add to 66 years. The present
age of Sahil is : '

(1) 13 years (2) 14 years (3) 15 years (4) 16 vears

{15) PoT. 0
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56.

57.

wifes 9 A ada oy Wi @ oadaE erg # dE g E S
gy =F I AT F Y H AW 66 aY € A Wied #H o adard
A 7

(1) 13&9 (2} 14 ad

(3} 15 ay (4) 16 =d

The denominator of a rational number is greater than its

numerator by 8. If numerator is increased by 17 and denominator

. ; : 3 :
. is decreased by 1, the number obtained 1s S The rutional number

18 :
%ﬁ?ﬁaﬁmaﬂs{aﬂ%aimé‘amfﬂar:%|qﬁarimi’r1?~éﬁ$

.3 A x
iﬁmmamﬂﬁlﬁmﬁm=maaﬁﬂ§mﬁ =idr g1 98

11 17 15 . 13

A shopkeeper selis a book for T 100, gaining ¥ 20, His gain percent

1S :
{1) 20% (2) 22%
(3] 23% (4) None of thesc

(16)
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59.
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U gHFER H O fRa™ 100 W sE U T 20 @ @ B ¥ |

IS @H H g © o
(1} 20% | 2) 22%
(3) 25% (4) 399 | B8 74

The compound interest on ¥ 4,000 at 10% per annum for 2 years
3 months, compounded annually, will be :

f4,00nmm'wza&3qﬁ%%mlo%ﬂ?ra'{ﬁ,maf%
T aifees g elar &, 8o

(1) %961 (2) T916 (3) %900 (4) 896

6 pipes can fill a tank in 1 hour 24 minutes. 7 pipes can fill the
same tank in :

(1) 60 minutes (2) 66 minutes
(3) 72 minutes (4} 78 minutes

TF TE W 6 URY 1 HeT 24 e ¥ Wy gy ¥ 7 qEy I YE g
HT HHhd B

(1) 60 e # (2) 66 e i
(3) 72 e & (4) 78 freE

To complete a work, A takes 50% more time than B. If together

they takes 18 days to complete the work, then B takes the time to
do the work in ;

(1} 30 days (2) 35 days (3) 40 days (4) 45 days

(17) P.T.0.
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61.

62.

83.

A U Wt I HA H OB F U 50% SOTEl WY el B ofa
AT UF A BT 3y 4 B g w18 {4 wnd ¥, a4 B
ST TH W B QT e A aua g 7

(1) 30 &= 2) 35 f&H (3) 40 fes1 (4) 45 fas

The base of a triangle is four times its height and its area is 50

~ square meter, The length of the base is :

fl} 5m (2) 10m (3} 15m (4) 20 m

U P 1 AT gEw HaE H S A 2 iR #=%d 50 Al
2 oMY @ S §

(1) 5 (2) 104 (3) 15 (4) 20T

The ratio of radii of two cylinders is 2 : 3 and the ratio of their
height is 5 : 3. The ratio of their volumes will be :

2 e gy JeEl & Bremell @ IO 2 0 3 ¥ ST g e
FT ST 5: 3% | Id S Kl SIS B

{1}y 27:20 (2) 20:27 (3) 9:4 (4} 4:9

One card is drawn from a well-shuffled deck of 52 cards.

Calculate the probability that the card will be an ace :

ST U @ B ud 52 wdl #Y e g H § UHE I A ST
% | g T ud ST AN gEH miEar H 9w 2

12

= (4)
13

e

' 1
b 2 & o
(1} = (2] S

(18)
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551

66.

67.
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The equation representing the y axis is :
y AT B 91 @1 g §

(1) x=0 (2) y=0 (3) x=a 4) y=a

On dividing 10x* +17x° -62x? + 30x - 3 by 2x° + 7x -1, gives the
quotient.

10x* +17x° -62x% +30x -3 A 2xZ+7x -1 § 90 3F 9X ATTRS
3T B

(1) 5x%-9x-3 (2) 5x2-9x+3

3) 5x%+9x+3 (4) 5x%+9x-3

The angles of a pentagon are x°,(x +20)",(x+40), (x + 60)° and
(x +80)". The smallest angle of the pentagon is :

Uh UGS H BT 17, (x+20),(x+40)", (x + 60)° q&AT (x+80) ¥
AN N GEE BT HT ¥

(1) 85° (2] 78° (3] 75° (4] 68°

Water is pouring into a cuboidal reservoir at the rate of 60 litres

per minute. If the volume of reservoir is 108 cubic meter, then
number of hours to fill the reservoir i

Qm@%w&oﬁanﬁmdaﬁmﬁwmﬁr{m%iqﬁr

e B AT 108 T Ao ¥ 79 gz B A F @ Ay vy &
qEr §

(1} 18 (2) 180 (3) 30 (4) 300

T8y PTO
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68.

69.

70.

Cgfy XTB_x-b

¥x+bh x-b
If —— =" then x=
a-b a+b

(1) a 2) —a (3) b (4) - b

A road roller takes 750 complete revolution to more once over

to level a road. If the diameter of road roller is 84 cm and length is
1 m, then area of the road is :

(1) 396 m? (2} 3960 m® (3) 198 m’ (4) 1980 m*

REll e B TEad w9 B [ U 8@ Al Al 358 B ST
o A YEY B R 750 R T dsd ¥ AR Ase free @
s 80 & AT s 1M B, A Heh & S © ¢

(L} 396 #? (2) 3960 P  (3) 198+° (4) 1980 #*
A boat goes some distance in upstream in 6 hours and covers

the same distance in downstream in 4 hours. If the speed of stream

is 3 Km/hr, then the distance 18 :

(1} 60 Km (2) 72 Km (3) 90 Km (4) 108 Km

qﬁﬁﬂgﬁ;ﬁ%%qﬁ@ﬁﬁéﬁﬁ%ﬁrmﬁgﬁﬁ
W%Gﬁﬂﬂ4ﬂ%ﬁﬁﬁ$ﬁ%lﬂﬁmiﬁﬂﬁ3ﬁ‘ﬁﬁ/ﬂ%%,
Ay a8 g0 ¥ -

(1) 60 fepet (2) 72 Bl (3) 90 PRl (4) 108 fmdl

(20)
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72..

73.
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A fertilizer is :

(1} human waste and plant residues
(2) an inorganic salt

(3] which can be prepared in fields
(4} provides a lot of humus to the soil
T 3aih &

(1) "FE srufire wd gewfy s@Esw
(2) UH FAFETH a9

(3) = & ATt F g A1 Gepen 2
(4) T it sl oxor gae var @

Fermentation was discovered by ;

(1) Louis Pasteur (2} Alexander Fleming
(3) Edward Jenner (4} None of these
fboe (@) o @y feed =T o e 7

(1) 9% v (2) s W
(3) u=aE =Y 4) 49 § e 7@l

Tuberculosis is caused by microorganism :

(1) Virus (2) Bacteria
(3) Protozoa (4} None of these

(21}

B 0
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TR g W ARV
(1) Fmry (2) Sffary
(3) eI (4) =H & Bg T

74. Which of the following type of waste is non-biodegradable ?
(1) Peels of vegetable and fruits
(2] Paper
(3] Cotton cloth

(4] Plastic bags

frey # & - oufire IR-gEfeised @ ?
(1) it od w0 & foas

{2) @ETeT

3) Hh HU3

(4) wiies F7

75. Which of the following can be beaten into thin sheets ?
(1] Zine (2) Phosphorus
(3] Sulphur (4) Oxygen
freg & d-wr qeeht = & w9 § @@y of e e 7
(1) =TE | (2) HEHTH
(3) e (4) SRS
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76. Rusting of iron is due to :
(1) Oxidation (2) Reduction

(3] Heat-treatment (4) Metallization

e W M G N T T
(1) SifeRTrpToT (2) R==ar
(3) =T IqE (4) greiERTer

77. Which of the following is inexhaustible natural resource ?
(1) Coal [2) Petroleum
(3) Natural gas (4) Sun light
Prer % @ Aer o s dae B 7
(1) v (2) I
(3) s g (4) T BT g

78. Which of the following is the least polluting fuel ?

(1) Petrol
(2] Diesel
{3) Coal

[4) CNG [CDmpres&e.d Natural Gas)

(23) o
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79.

80.

Ffre=1 & SH-T1 geaT 9gue S e gue ¥ 7
(1) g
2) Frr

(3) =®rEEr

(4) Ho udo Sio (adifea mfas I4)

In a candle flame, the outer zone of complete combustion, which

is blue is ;

(1) Moderately hot (2) The hottest

(3) The least hot (4) None of these

wF At & & #§, gof w89 @ asd &, o @ A @ sl B
(1) e (2) @aifeEs T

(3) = A (4) T § FIE FTE

Cork cells were first observed by :

(1] Robert Hooke (2) Flemming
(3) Twvndall (4} Newton
FrE farend gdnew Ofea @ 04l

(1) W=d gF zﬁt (2) AT @R

(3) FEsw aw (4) T &1
{24)
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82,
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Cell wall is absent in :
(1) Plant cell (2) Animal cell

(3) Nucleus (4) None of these

(1) a=vefer Fifameredt & (2) ool et #

@) e § 4 = F D a8

Which of the following is not part of female reproductive organ ?

(1) Qvaries (2) Fallopian tubes
(3) Uterus (4) Sperm duct

M1 & #9 Aiecnell & w=-a3 7 w1 F2 e 7

(1) sy (2) &N egm
(3) ety (4) -
A female has :

(1) Twe X chromosomes
(2) One X and one Y chromosome
{3) Two Y chromosomes

(4} None of these
| (25)

P.T.O.
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(1} &1 X b= (2} W X U U Y HIHEA
(3) & Y s (4) & & e Bl

84. Porters place on their heads a round piece of cloth because :
(1) Pressure on their head is increased by doing so
(2} Pressure on their head is reduced by doing so
(3) Theyv decrease the arca of contact of the load with their head
(4) None of these
oAl e fow oX Fu W e T B s
(1) O B G T G O &9 9% ol
() DEr T Y S8 A W &TF "2 S €
(3) 7 A 47 oTad FaR @ g AFed HE E |
(4) g & FE TE

85. 1n the figure shown, angle of incidence 1s :

60"

incident ray” 37 reflected ray

e P SR R LEL N AL
(13 30° (2} 80* (3) 90° (4} Zero degree
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86.

87.

Ramu ™ g § aaas o7 ©

anufas feTor EHEIGOEETA
P S T SR T 5 T G G S S
{1y 30° (2) 60° {3)

Loudness of sound depends on :

(1) Its amplitude ()
(3) ﬁravelength (4)
E & mEer ik e R

(1) 9= oM™ U (2)

(3) et gy (4)

A coating of zinc is deposited on iron :

SET/17/19/1X/(i)

a0° (4) = &l

Frequency

None of these

FPRT 9T

¥ | i A

(1) to protect it from corrosion and formation of rust

(2) to make it hard
(3) to make it brittle

(4) to make it drectile

(27)
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8e.

89.

90.

e a7 B ot o 9va TorE o R

(1) =8 1 & == & fo qen Lﬁq;%ﬁaaﬁ%m
(2] 8 =l a1 & R

(3) T TR T & fan

(4) W W A & @0

In a Braille system there are :
(1] 26 characters (2) 36 characters
(3} 63 characters (4) 3 characters

aFr q':;._j_:w- ”—a ﬂ :‘-%(‘r'i ;

(1) 26 = gl & (2) 36 78T B 2
(3) 63 38 g9 & (4) 5 8T BIT B

Which of the following planets is nearest to the Sun ?
(1) Neptunc (2} Jupiter (3) Mercury (4) Pluto
Fret § 9 fi9-a1 g gd & wTey 2 7

(1) ==z (2) gewld (3) g (4) el

Lightning conductors are used to protect from the effect of

(1} Rain (2) Storm (3} Lightning (1} Flood
afeq awE B owe | Fu & R SEER 2y ¥ 7
(1) adf (2} gFHA (3) gATE (4) 4%

(28)



81.

92.

93.

95.

96.

SET/17/19/IX /(i)

“Uﬁﬂlﬁfﬁé‘iﬂ%@ﬁ,ﬁ?ﬁ%ﬁﬁﬁw%ﬁq”-ﬁﬁﬁﬁﬁ
BT-TT AR T 7

(1) 3T (2) ov9 (3) AfasEifaa  (4) I

TeqT g aproaref B o

1) == @ =R (8) uwrEwm  (4) @aw

quT = AT BRrar B Redgr &7
(1) SIFEST s S (2) TrETT g
(3) AferfisTeor T (4) T o Trame

MR s Y oy B

(1} = (2) R (8) ¥ @4 ==

‘T’ B IRV Y R -
(1) waf (2) g (3) e [4) T=ie
T § Rl wfy R 7

(1) @ |fg (2) 7T afy
[3) =] |fve (4) afE wiveg

(2 PTO
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07, fr=1 & A e B
(1) i 2) -

(3) e (4) BT

08. ‘qfewT Bra g & a2 7
(1) =rEeT &7 (2) & F

(3] T H (4) o

99, Trfwfam o @ @=-a UH By gt IaE B S A gt g ?
(1) F& HEaet # = & 8
(2) ST T WHEr ATAE @A A g3
(3} I=EM ITam TE e

(4) waie sl el fot

100. ‘Ha + ;A # @Y T grE g9

(1) wasdiE (2) EMEET
(3] @nae (4) FarEA

(30)



